
motobilt.com | 334-219-2333

MB1213 - Assembly Instructions Motobed Molle Panels

REV: 0

1

MB1213 - MOTOBED TIRE CARRIER BED

RACK MOLLE PANELS

ASSEMBLY INSTRUCTIONS



MB1213-01

MB1213-02

5/16"-18 x 1" Hex Bolt

Qty 8

5/16" Plain Washer

Qty 16

5/16"-18 Nylon Insert Hex Locknut

Qty 8

motobilt.com | 334-219-2333

MB1213 - Assembly Instructions Motobed Molle Panels

REV: 0

2

Contents



motobilt.com | 334-219-2333

MB1213 - Assembly Instructions Motobed Molle Panels

REV: 0

3

Step 01

MB1213-01

MB1213-02

5/16" Plain Washer

5/16"-18 Nylon Insert Hex Locknut

D

R

I

V

E

R

 

S

I

D

E



motobilt.com | 334-219-2333

MB1213 - Assembly Instructions Motobed Molle Panels

REV: 0

4

Step 02

5/16"-18 x 1" Hex Bolt

5/16" Plain Washer

5/16" Plain Washer

5/16"-18 Nylon Insert Hex Locknut


